2 3 4
+5v
Ul L S o L
e Ll vIN sw =2 Y Y YA ((CCI» F1
2 3x3mm power inductor N
GND ferrite bead
3 = EN FB ko 4 500mA resettable polyfuse
! 10uF 1206
LM3670MF-1.2 ——X7R >=6.3v 0
HOS 0805
= 1 GND
GND =
4.7uF GND ‘12 1 L2
X7R >=6.3v ferrite bead
e .2V supply
1206
+5v
U9 +u>w<
oy OUTPUT
C16 INPUT OUTPUT_2 C17
a
1uF Z —— uF
XTR >=6.3v o X7R >=6.3v
0603 | 0603
— TLVI1117LV33 — —
GND GND
GND
+3.3v supply
Ground clip pads

TP5 TP6 TP7 TP8 TPOTPIOTP11TP12

PP PPl
L

GND

Power supply test points, top side
GND
wHEY 2l == +5v l@ Net Class ClassName: Power
M M M +3.3v ((i)Net Class ClassName: Power

TP1 Tp2 TP3 TP4
33v. 12y SV gnd

+1 .N<_|@zo~ Class ClassName: Power

Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0

Title
Vusb (i) Net Class ClassName: Power
() Net Class ClassName: Power Size Numbor Revision
GND A
Date: 4/20/2014 | Sheet of
File: Z:\ov_ftdi\hardware\power.SchDoc | Drawn By:

3 4




1

Ml M2 M3 M4
1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw
M5 M6 M7 M8

1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw

<

10

=

12

1/4" x1/4" F/M 4-40 standoff1/4" x1/4" F/M 4-40 standoff1/4" x1/4" F/M 4-40 standoff1/4" x1/4" F/M 4-40 standoff

U2F
433V VCCO0  VCCAUX 22433
22 VCCO 0 VCCAUX —32
VCCO 0 VCCAUX
& 53 U2G
103 VECAUX 50 108 49
2 VCCO1  VCCAUX X GND GND =
MHole3 2mm 2 veeo s = GND GND —22
VCCO 1 VCCINT (—5 {+1.2v 59— GND GND —
o VCCINT (3 22 GND GND 2
2 veeo 2 veent —3% 3% GND GND (—t
VCCO 2 VCCINT 22 >~ GND GND
s VCCINT GND
MHole3.2 | = XCOSLX93TQGIMC =
oles.Zmm X . 3
W oo GND GND
XC6SLX9-3TQG144C
+3.3v Veeo 0 +3.3v Veeo 2
T . T,

MHole3.2mm

&

1o Iﬁnﬁ Iﬁnﬁ | 59 R Iﬂlot o
1 1 1 1 1 1 1
IFI 10uF 0.1uF 0.1uF 0.1uF | 1o 0.1uF 0.1uF

X7R >=6.3v X7R >=6.3v  X7R >=6.3v X7R >=6.3v — X7R>=6.3v X7R >=6.3v X7R >=6.3v
GND 0805 0402 0402 0402 GND 0805 0402 0402
MHolo3 2mm +M_M< X Veeo_1 X X +N_M< X Veeo 3 X X
C6 C35 C49 C51 C4 C33 C34 C38
1.2y VeeINT 10uF 0.1uF 0.1uF 0.1uF 10uF 0.1uF 0.1uF 0.1uF
I_I — X7R>=6.3v X7R>=6.3v X7R >=6.3v X7R >=6.3v — X7R>=6.3v X7R>=6.3v X7R >=6.3v X7R >=6.3v
GND 0805 0402 0402 0402 GND 0805 0402 0402 0402
C3 C19 C20 C21 C29
10uF 0.1uF 0.1uF 0.1uF 0.1uF
— X7R>=6.3v X7R>=6.3v X7R >=6.3v X7R>=6.3v X7R >=6.3v
GND 0805 0402 0402 0402 0402
+w_.M< VeeAUX Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
N N " . Title
C2 C23 C24 C25 C26 C27
. . . o ° Size Number Revision
10uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF A
— X7R>=6.3v X7R>=6.3v X7R>=63v X7R>=6.3v X7R >=6.3v X7R >=6.3v -
GND 0805 0402 0402 0402 0402 0402 D 202014 | Sheet 20f
File: Z:\ov_ftdi\..\FPGA power v3.SchDoc | Drawn By:

2 3 4




ClassName: Power +3.3v local3.3v locall.8v +3.3v U4
Net Class 16 | VBAT DATAO 4 targetl ULPI_DO
J2 15 5 targetlULPI DI
local3.3v t VDD33 DATAIL -
1 targetVBUS T . Cl18 Cl12 Cl1 9 6 target ULPI_D2
VBUS 0603 0603 0603 +3.3v t VDDIO DATA2 <— =
D- 2 targetD N DATA3 7 targetlULPI_D3
D+ 3 targetD P c41 c13 luF 1uF luF locall 8 23 | VDDI8 DATA4 8 targetl ULPI_D4
GND -4 04020.1 e — X7R >=6.3v —— X7R >=6.3v — X7R >=6.3v ocatl.ov DATAS “10__targetlULPI_D5
S u- oo GND GND GND R14 17 1T targetlULPI_D6
61729-1011BLF — X7R >=6. X7R >=6.3v "mEMnﬁ<wcm_|§|o%u : VBUS DATA6 [<>— = ULPI D7
e o 10K DATA7 =18 -
= targetlULPI RST | targetlULPI_STP targetD N 14 24 targetlULPI_STP
12 shield GND targetlULPI DIR | W M targetlULPI_CLK targetD P 13 WW\_ %v._m% 3 targetlULPI_ NXT
targetlULPT NXT | 5 ¢ targetlULPI_DO DIR T targetlULPI DIR
ca4 targetlULPLDL__| 5 ¢ targetl ULPI_D2 TR-63y TP13 i
0.1uF 0402 Samﬂumwww Ww L9 10 SEQMEWW“IWM C4 argetID 18 D CLKOUT 2 targetl ULPI_CLK
X7R >=6.3v fargetlLULEL Do | gy qp |—areet g L
— ' targetlULPI D7 — 0402
= targetVBUS s Y1 GNDO.IuF 20 TP14
OND R Header 7X2 "= L2 21 V_Mmmnrﬁx_ RBIAS —2 g
13 DNP (0) 1206 GND L
1 26MHz target] ULPI_RST 22 25 R2
M <wrme. 2 targetD_N R24 SN Gy 8.06K1%
= 3 _targetD P USB3343 = 0603
o o 1M 0603 GN
= =—C63 =—C62 —
E27-AC54-100 18pF 18pF GND
PS5 0603 0603
Current measurement e —  ClassName: Cmmﬁw_‘ tDiap N == R4 tareetD N == ClassName: USB
48 GND GND  Net Class((i )—28aD D~ _wﬁ%wm (i) Net Class
memvmwﬁww DMU targetDtap P RS targetD P
—_ . Net Qm%@ ap AMN—— @ Net Class
\ 1K 0603 k
GND ClassName: USB ClassName: USB
+3.3v <t~ fan] =N
. . . — =] || 3
optional RAM clk termination @a GGG
RAM CKE 37 ke FEAceee or W9825G6JH-61
>>>p0Q00Q _
RAM CLK o 38 ] CLK SEEE or AS4C16M16S-7TCN
RAM_CS0 9 | == 40
RAM_WE# 6 $ e
RAM CAS 7] = 15 RAM_DQML
= CAS DQML (==Y
RAM RAS HSWAPEN 18 ] £22 DOMH 39 RAM_DQMH
RAM A0 23 RAM DO
RAM A0 23 | L]
RAM AL 24 49 w% A;Ww\yzb_
RAM A2 25 | 4 DQ2 L2RAM_D2
RAM A3 26 7_RAM D3
oo D el A3 DQ3 fae— +33v  Veeo 0
RAM A4 _ 29 8§ _RAM D4 —
L WM wmw O RAM Ds — C37 1 13 cl4
RAM A6 3171 & DOS [1 RAM_D6 I.—I I.—I Iﬁ I_I
RAM A7 32 A7 DQ7 13 RAM D7 I.—I I.—I Iﬁ I_I
RAM A8 __ 33" A8 D8 42 RAM D8
RAM A9 34" A9 DQY 44 RAM D9 0.1uF 1uF 0.1uF 1uF
RAM AL0__ 22" 10 DQI0 *45 RAM D10 — X7R>=6.3v X7R>=6.3v XTR>=6.3v X7R >=6.3v
RAM All 35 All DIl 47 RAM_Dl11 GND 0402 0603 0402 0603
RAM A12_ 36 TS RAM D12
Sa As D AR DQI2 <5 puM D13 +w_.m< Veeo_|
DQI13 A:W - g o .
RAM BAO 20 51 RAM DI4 > > » Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
—_— - o
RAM BAl 21| BAO DQI4 13 RAM D15 _[c40  Jc2 Jc28 Title
™ 3538 T T 7T
geggged
0.1uF 0.1uF 0.1uF Size Number Revision
ol =l<lo]alole = X7R>=63v XTR>=63vXTR>=6.3v | ,
P R %) g 1 3 1 ___ GND GND 0402 0402 0402
Date: 4/20/2014 | Sheet of
File: Z:\ov_ftdi\..\RAM and target USB.SchDdcDrawn By:
1 2 7 3




u2c U2D
Signals used during FPGA configuration m RAM_A4 +3.3v
a 0 ILip (CCILIK 2 (sce XAPP502): o ORCTEE RAM A5
\d 10_LIN_M0_CMPMISO 2 e \ 10_LIN_VREF 3 Sy
> 10 L2P CMPCLK 2 15, Z 0 _12P 3 L
4 SI B, RDWR_B, CCLK, PROG. B, RAM A7
“ 10_L2N_CMPMOSI 2 O SN T SN0, M1 % 10 L2N 3 AN AS
@ 10 L3P DO DIN MISO MISOI 2 ool B » INIT_B, MO, o 10 L36P 3 Sy
HO|th|7_>% m_wﬂMuvm ~|OW|KMWW|W D1 Additional signals used during FIFO H_Aﬁuulﬁwwzmvlw WZSH\i 1
- AT = D2 mode: b - RAM_A12
10 L12N_D2_MISO3 2 o ACBUS0 (RXF# 10 L37N 3 W
10_L13P_MI 2 10_L41P_GCLK27 3
LILISE I LED2 ACBUS? (RD#) LLAEL o RAM _DQMH
10 LI13N D10 2 10 L4IN_GCLK26 3
UL D), LEDI ACBUS3 (WR#) LI L RAM DS
10_L14P DIl _2 10_L42P GCLK25 TRDY2 3
10 L14N D12 2 EEDO ACBUSS (CLKOUT) i L42N_ GCLK24 3 LIRS
10_L30P GCLK1 D13 2 R NGONE  ACBUS6(OE#) 10 L43P_GCLK23 3 YT rastt
10_L30N_GCLK(_USERCCLK 2 . 10 L43N_GCLK22 IRDY2 3 U
10 L31P GCLK31 D14 2 CLKOUT spqge V0s: ' 6 1O L44P GCLK21 3 R asth
10 L3IN_GCLK30 D15 2 = W3 10 L44N_GCLK20 3 AL DLt
10 _L48P D7 2 SR D 100 10 _L49P 3 SNV
10 L48N_RDWR_B_VREF 2 SN 10 L49N 3 e
10 L49P D3 2 o 10_L50P 3 e .
10 L49N D4 2 i 10 L50N 3 A :
10_L62P_D5 2 Do 10_L51P 3 ST
10 L62N D6 2 10 L5IN 3 L
ACBUS2 RAM A10 RI
L0) LI IDTS 7 ACBUS3 0 L5 2 RAM BAI 060 Us
Q) JLEINLJoE) 2 INIT B Q) ILEPN 2 RAM_BAO 10 |4 3 SPARE9
10_L65P_INIT B 2 i 10_L83P 3 AN VCC OUT -
10 L65N_CSO_B_2 10_L83N_VREF 3 U | 5
XC6SLX9-3TQG144C XC6SLX9-3TQG144C Y G
U24 co|  sommHz GND
- 10_LIP_HSWAPEN 0 JJor{ 33 —RAVLRAS HSWAPEN -
M O Bod42 RAM_WE# X7R >=63v
M oo [ RAM DOML U2B 0402 GND
o 10 L3P 0 40 RAM_D7 10 LIP 1 105 _targetDtap_P .
=l 39 _RAM_D6 — (gt targetDtap N Spare SOMHz clock for bringup
10 L3N 0 flerss—RANLD 9 I0_LIN VREF I T
%Hrmm& 37 _RAM D4 ANn %ﬂww%# 101__SPAREI GND P4 GND
10_L34P_GCLK19 0 Iww N M 10 133P_1 [t mwwmm sp >xmo_|| 1 2 ||_mv AREL J4 Trigger in
10_L34N_GCLK18_0 §<¥735—p \ M D1 10) LN 1 SPARE4 SPARE2 | S ¢4 SPARE3
10_L35P_GCLK17_0 W<5T—p A M Do 10 _L34P_1 SPARES SPARET 15 © SPARES SMA
10_L3SN_GCLK16_0 §<*555—1 \ p GETIULPI RST 10) LA 1 SPARE6  SPARE6 ] . S SPARE7 !
10_L36P_GCLK15_0 W50 —1 \ RGETIULPI STP L10) L2 (Gl T SPARE7  SPARES | 2, 10 SPARE9 e
10_L36N_GCLK14_0 §<57—r.\ p GETIULPI DIR 10) LA @O ] SPARES  SPaREil0 ] 1 12 SPARE
10_L37P_GCLK13_0 §<953—1 ) RGETIULPI CLK O LAHP (EICILEE) ImM7IL I SPARE9  SPARED2 | 13 14 SPAREI3 el
10_L37N_GCLK12_0 @371\ p GETIULPI NXT O LGN (AL | SPAREI0 SPAREI4 ] 13 16 SPAREIS
10_L62P_0 Q=301 \ RGET1ULPI DO Q) 11D GO I SPAREIl SPAREI6 | 17 18 SPARE17
10_L62N_VREF 0 o2 — s 10_L42N_GCLK6_TRDY1 1 SPAREL6 19 59 —
_LO2N_VREF_O Bt o1 ARGETIULPI DI LJENL L = SPAREI2  SPAREIS SPAREI9
10_L63P_SCP7 0 s 10 L43P_GCLKS | SPAREIS | 5y oy | GND
_L63P_SCP7_0 B e —TARGETIULPI D2 HIRE S L SPAREI3 _ :
10 163N _SCP6_0 fil8— 10 L43N_GCLK4 | +1.2v 23 24 +5v .
_LO63N_SCP6_0 W< 7T ARGETIULPI D3 LIENLS = SPARE14 _ _ Trigger out
10_L64P_SCPs_0 et ARCE LI 10 L45P 1 ARElS +33v] 25 26 +3.3v Js
10 L64N_SCP4 0 fllo— LLLe 10 145N 1
b -scpa-o I I5_TARGETIULPI DS S SPARE16 Header 13X2 SMA
o cry s oA _TARGETIULPI D6 o SPAREL7 trig out 1|,
e -scr o [ TARGETIULPI D7 i SPAREIS
10 L66N_SCP0 0 ot LELS 10 L47N_1 S HRELD G
XC6SLX9-3TQG144C LI B W] Siiapya LN friglin
Pl +3.3v DONE 71 L00) IL 1B /NG, i trig_out Aeny<Hin
s DONE 7l phoNE 2 10_L74N_DOUT BUSY I X
1
) ____oz_u PROG 37| proGRrAM B 2 XC6SLX9-3TQG144C
M Tck ozoé“m SUSPEND Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0 Gy
5 Do = “wwﬁ LICS +3.3v SwWi e
© | ol [ RI0 SW1 I S
Y - TS v TDO V0603 > T° °[3 oW Size Number Revision
— s == "= TMS 10K 2 | GND v VISt
9 — A
TP17 7 TL1105LF160Q or TL1105F160Q
Header 9 Ox—=~| CMPCS B2 Date: 42072014 [ Sheet of
XC6SLX9-3TQG144C File: Z:\ov_ftdi\hardware\fpga.SchDoc | Drawn By:

| 3




1 2 3 4
Inspired by http://www.ftdichip.com/Documents/DataSheets/DS_FT2232H_V206.pdf page 47
3 wil%h\)\)\) Vpll @ZQ Class +1.8v +1.8v +1.8v +3.3v +3.3v +3.3v +3.3v
. ferrite bead 1200 )
L4 ClassName: power 52 53 54 55 56 57 58
+3 uil\)\)\)\) . Vphy \U Net Class 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF
: forrite bead 1206 \ s X7R >=63v | XTR>=63v | X7R>=63v | X7R>=63v | X7R>=63v| X7R>=6.3v| X7R >=63v
i C50 |47 (ClassName: power 0402 0402 0402 0402 0402 0402 0402
/a p— p— — — — — — a— T—
XTR >=6.3v GND GND GND GND GND GND GND
0805
ClassName: power
= = = = +1.8v
GND GND GND GND +3.3v Signals used during FPGA configuration
aqp  OIuF O.IuF (Dt Class (Dt Clss (sce XAPP502):
CrRega, 0402 0402 5 D0-D7
0805 oV =l ] v 8 sl=lgle ClassName: power M CSI_B, RDWR_B, CCLK, PROG_B,
U7 £ DONE, INIT_B, M0, M1
+3.3v — 2
0| Vol BE EEE 2289 ADBUSO Lel6 DO S Additional signals used during FIFO
0.luF [C46 gn > S S22 ADBUS| DI & mode:
X7R >=6.3v e 49 | reoOut RS 82 ~ ACBUSO (RXF#)
0402 : mwo g TBESS 19 5 ACBUS2 (RD#)
0.1uF e "3 D4 2 ACBUS3 (WR#)
= usb W% >=6.3v e 22 om & ACBUS5 (CLKOUT)
JI__GND _ HSN ADBUSE Ww q m ACBUS6 (OE#)
VBUS —— s N GND 7 ADBUS7 == spare /Os:
D- <3S p g DM 26 ACBUSO
D+ AA <> DP ACBUSO A_mq 29) CCLK
m GND =~ ACBUSI P3
= 61729-1011BLF — CaUS o ACBUS3 | |
ozo GND ACBUS4 =3 4 —
K 1% 6 HGA0RS Amun R23  cLKOUT L, 5 69—
GND ___ REF ACBUS5 AW — D6 D7
0603 33__ACBUS6__33 ' 0603 =—— 7 8 —
R16, 22K 14 wCBUSS 534 _AcBUST ACBUS) WOpuig  CCLK
+3.3v———MW-==o " RESETH# ACBUS7 ACBUS2 ACBUS3
+3.3v 0603 Soos ) 12—
T 38 FIDI TCK ACBUSA |5 14 | CLKOUT
BDBUSO =0 7p1 o1 ACBUSG Igrrill  ACBUST
BDBUSI FIDI_TCK FTDI_TDI
SR13 SRI12 SRII 40_FIDI_TDO == (7 18— -
20603 < vOmOu BDBUS2 <o FTDI TD! FTDI_TMS
> 20603 41_FIDI_TMS == 19 20 —
BDBUS3 [ia—r2n VS BDBUS4 BDBUSS
10K |10K |10K 43_BDBUS4 S 0] 22—
BDBUS4 (a——me2e BDBUS6 BDBUS7
EECS 44__BDBUS5 =22 23 24—
BDBUS5 20 CSI B RDWR_B
EECLK. 45__BDBUS6 = 25 26 — -
EEDATA 63 BDBUS6 = —RpBUS DONE__ 57 g | PROG
EECS BDBUS7 p———2l BCBUS4 INIT B
U8 62 SEEL2T 99 30—
1 8 my| LK 48 CSIB MO gy o3 M
=+ CS vcee — ———— = EEDATA BCBUSO mi— 3o i e
3.pv—— ORG R17 BCBUS! [@2 RDWRB
3 4 53__DONE L L
D Q BCBUS2 fag—s—— = Header 17X2 —=
2 0603 ' 2.2K 4__PROG
SCL ; 0SCL 2 BCBUS3 AT T GND GND
5 DU —— OSCI BCBUS4 A.%
—
GND XC1289CT-ND opUse [C38_Mo FIDI TCK _ mep TCK
— M93C46WMNI ﬁ GZ:N BeBUS 59 M1 T T o
GND  556-A93C46DNSH-B 0SC03 | yero + —— INT
< 60
H g T TTVTTTTT PWREN# p—r— FTIDI_TDO TDO
133, Pulls per UG380 p34 mwwo _omov_ TEST < 5 5568888 SUSPEND# 30— [NT}
i RIS FTDI_TMS TMS
DONE ooow o%m c J Hddell |.|E
PROG GND GND Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
0603 1 Title
INIT B =
T0K_ ' 0603 GND
R21 RAM RAS_HSWAPEN Size Number Revision
T0K ' 0603
— A
GND Date: 4/20/2014 [ Sheet of
File: Z:\ov_ftdi\hardware\usb.SchDoc | Drawn By:
1 2 3 4




Quantity Designator

7
3
8

41

C1-C7
C8-C10
C11-C18

C19-C59
C60-C63

F1
J1, ]2

1/313

N = = BN =

g N == =D

H =~ NN = @

=

e R o

L1

L2-L5
LD1

LD2

LD3, LD4

M1-M8

M9-M12

M13-M16
R1

R2

R3

R4, R5

R6-R9, R18

R10-R14,
R19-R21

R15
R16, R17
R22, R23
R24
R25

R26

SW1 (option
with case)

SW1 (option
without case)

Ul

u2
u3
u4

u7
us
uo
Y1
Y2

VALUE

10uF 0805 X5R >=6.3v
4.7uF 0805 X7R >=6.3v
1uF 0603 X7R >=6.3v

0.1uF 0402 X7R >=6.3v
18pF 0603 X7R >=6.3v

0
61729-1011BLF
E27-AC54-100

4.7uH
0

red
yellow

green

1/4 4-40 screw

1/2x1/4" F/F 4-40 standoff

1/4 x1/4" F/M 4-40 standoff

10
8.06K
100
1K
330

10K
12K 1%
2.2K
33

1M

50

DNP0)

TL1105LF160Q

TL1105F160Q

LM3670MF-1.2

XC6SLX9-3TQG144C
AS4C16M16S-7TCN
uSB3343

50MHz
FT2232H
M93C46WMN1
TLV1117LV33

26 MHz
12 MHz

Comment
Ceramic cap
Ceramic cap

Ceramic cap

Ceramic cap

Ceramic cap

500mA
resettable
polyfuse

USB B jack

USB A jack

3x3mm
power
inductor

ferrite bead
LED
LED
LED

case part
case part

case part
Resistor
Resistor
Resistor
Resistor

Resistor

Resistor
Resistor
Resistor
Resistor
Resistor

Resistor

4pin button

4pin button
1.2v

switching
regulator
FPGA
RAM

ULPI PHY
ASEMB
3:2%x25
oscillator
USB FIFO
EEPROM
3.3v LDO
26MHz

12MHz

Footprint
0805
0805
0603

0402
0603

1206
PTH
PTH

3x3mm
1206
0603
0603
0603

mech

mech

mech
0603
0603
0603
0603
0603

0603
0603
0603
0603
0603
0603

PTH

PTH

SOT23-5AN

QFP144
TSOP2-54
QFN24

DNP
QFP64
SOP8_N
SOT223-4
HC49/US
HC49/US

DigiKey PN
587-1300-1-ND
1276-1065-1-ND
587-1242-1-ND

587-1227-1-ND
399-1052-1-ND

F2112CT-ND
609-3657-ND
UE27AC54100-ND

SRN3015-4R7MCT-ND

240-2410-1-ND

475-3016-1-ND
475-2558-1-ND
475-1409-1-ND

H703-ND

2203K-ND

8714K-ND
RMCF0603JT10ROCT-ND
311-8.06KHRCT-ND

RMCF0603JT100RCT-ND

RMCF0603JT1KOOCT-ND

RMCF0603JT330RCT-ND

P10KGCT-ND

P12.0KHCT-ND

P2.2KGCT-ND
RMCF0603JT33ROCT-ND
RMCF0603JT1MOO0CT-ND
RNCPO603FTD49R9CT-ND

EG2505-ND

EG1827-ND

LM3670MF-1.2/NOPBCT-ND

122-1747-ND
1450-1003-ND
638-1116-1-ND

768-1024-1-ND
AT93C46DN-SH-TCT-ND
296-28778-1-ND
887-1069-1-ND
887-2414-1-ND

Mouser PN

81-GRM21BR61A106KE19
81-GRM21BR61C475KA8K

80-C0603C105K9P

80-C0402C104M8P
80-C0603C180J5G

576-1206L050YR
61729-1011BLF
E27-AC54-100

652-SRN3015-4R7M
875-HI1206P121R-10
78-VLMS1300-GS08
78-VLMY1300-GS08
78-VLMTG1300-GS08

534-9900

761-2104-440-AL-7

534-8714
71-CRCW0603-10-E3

660-RK73H1JTTDD8061F

71-CRCWO0603-100-E3
71-CRCWO0603-1.0K-E3
71-CRCWO0603-330-E3

71-CRCWO0603-10K-E3
71-CRCW0603-12K-E3
71-CRCW0603-2.2K-E3
71-CRCW0603-33-E3

71-CRCWO0603-1.0M-E3

71-CRCWO0603-50-E3

612-TL1105LF

612-TL1105

926-LM3670MF12NOPB

913-AS4C16M16S-7TCN

886-USB3343-CP-TR

895-FT2232HL
511-M93C46-WMNG6TP

595-TLV1117LV33DCYR

774-ATS260BSM-1E
774-ATS120BSM-1

Notes

Might be able to
use 0603 parts
here

Needs hot air to
solder

only necessary for
case

only necessary for
case

only necessary for
case

optional (for
current
measurement)

button with long
stalk, for use with
case

button with short
stalk, for use
without case

not available at
Mouser

not used



